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hk007-0{VIP bolus EE5R4Ta1—)L 19—)b day21
day—1 day1 day2 day3
A1 A2 M20 % PP EE M2 8% PP PP M2 DEIE PP = M2 OEE
0= = M357v5 500mL M35797 500mL  [DYLT AT 500mL 0—. 35797 500mL  [DYLT AT 500mL
1= o 1 Il 1l Il
2= 2= 1 Il 1l Il I
3= o 1 g1 1l gL I
4— 4— 1 g1 1l Il I
5— = 1 l 1l Il Il
= = 1 g1 1 I I
7= i 1 1 1 ! I
8— = |@JLTE3AG 500mL] 10:30—11:30 |@YLTE3AG 500mL|YAT AT 500mL  |10:30—11:30 YT L3AG 500mL|(DYT AT 500mL  |10:30—11:30
9— o 1 MER 50mL g 1 MER 50mL I I MER 50mL
10— o="11 @39799 500mL YRETHYY 400me 1 1 YRETHYY 400me 10= |1 1 YAITHYY 400me
11— =11 1 11:30-13:30 1 1 11:30-13:30 11="11 1 11:30-13:30
12— 2— |1 @375795 500mL_ |M4%E® 500mL 1 1 MER 500mL 12— || L MER 500mL
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DYo=vE—)L_100mL
7= 1 7= 11 1 MY RTS5F> (120me/nf) 7=11 1 TIL—k el 1 £TTFIL—F
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I I - 1 1 1 1 1
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HEETEYY 400me 9744y 400mg
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